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Fire is mentioned to exempt it from 1%L — 707 IR 12 WSS WN

Overview

The X713 states the reason WX is written in the 77N (even though it can be
derived from TI°X7 7M 72); to inform us that WX is PHYA M. M>dOIN offers
an alternate reason.
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The X713 could have said that the 770 taught us WX in order to make WX

liable (even) for 27%s. The reason we would think that wx is T from 2°%3 is -
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Since WX cannot be derived from the naX which are alive (such as 7% and
n7x)’, but rather wx can be derived only through a mw: 7% of one of the

max and 712; and M2 is MWD from 2%3. Therefore if WX would not be written but
derived from 8% 7 72 we would assume that WX is also MWD on %95, Therefore the
7N writes WX explicitly so there is no need to derive it from T12. There is no cause
therefore, to exempt WX from paying for burnt 0°75.

Summary
The X713 could have said that WX was written in order 27277 NX 12 215

Thinking it over
What are the relative advantages and disadvantages of mo0in reason and the
s'X773 reason?

" Our mwn taught this to us that 21 717 12 PRY WRT 372 00 717 172 WOw 17 RYY; that WX cannot be derived
from nvam w.

? See previous 17°M27712 7"7 MooIn footnote # (1 &) 2, that the 7% cannot be more 21 than the 797 See
1Mwn 7"7 2,3 Mooin and ‘Thinking it over’ # 3 (there).
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